

(An Autonomous Institution)
Coimbatore-641035.



**UNIT-V LAPLACE TRANSFORMS** 

Transforms of periodic function

A function flow 98 said to be periodic Plantions:

Pland only Pf flatp) = flat Ps true for some value of p and every value of x. the smallest posphere value of p for which this equation 90 true for every value of a will be called the period of the function.

The laplace transformation of a perfode c function fit) with period p given by,
$$L[f(t)] = \frac{1}{1-e^{-ps}} \int_{s}^{e^{-st}} e^{-st} f(t) dt$$





(An Autonomous Institution Coimbatore-641035.

**UNIT-V LAPLACE TRANSFORMS** 

Transforms of periodic function

1) Find the laplace transforms of the rectanglar wave given by 
$$f(t) = f(t) = f(t) = f(t)$$
 rectanglar wave given by  $f(t) = f(t) = f(t) = f(t) = f(t)$  be table.

Soln:  $f(t) = f(t) =$ 





(An Autonomous Institution) Coimbatore-641035.

**UNIT-V LAPLACE TRANSFORMS** 

Transforms of periodic function

$$s(1-e^{-b3})(1+e^{-b3})$$

$$= \frac{1}{3} \left(\frac{1-e^{-b3}}{1+e^{-b3}}\right).$$

$$= \frac{1}{3} \left(\frac{1-e^{-b3}}{1+e^{-b3}}\right).$$

$$= \frac{1}{3} \left(\frac{e^{3b/2} - e^{-3b/3}}{e^{5b/2} + e^{-3b/3}}\right).$$

$$= \frac{1}{5} \left(\frac{e^{3b/2} - e^{-3b/3}}{e^{5b/2} + e^{-3b/2}}\right).$$

$$= \frac{1}{5} \left(\frac{e^{3b/2} - e^{-3b/3}}{e^{5b/2} + e^{-3b/2}}\right).$$

$$= \frac{1}{5} \left(\frac{e^{3b/2} - e^{-3b/3}}{e^{5b/2} + e^{-3b/2}}\right).$$

$$= \frac{1}{1} \left(\frac{e^{-b3}}{e^{5b/2} + e^{-3b/2}}\right).$$

$$= \frac{1}{1-e^{-2\pi s/w}} \left(\frac{e^{-s}}{e^{5b/2} + e^{-3b/2}}\right).$$

$$= \frac{e^{2\pi s/w}}{e^{-s}}$$

$$= \frac{e^{2\pi$$



SIS

(An Autonomous Institutio Coimbatore-641035.

**UNIT-V LAPLACE TRANSFORMS** 

Transforms of periodic function

$$\begin{aligned}
&1[f(t)] = \frac{1}{1 - e^{-2\alpha s}} \int_{0}^{3\alpha} e^{-st} f(t) dt \\
&= \frac{1}{1 - e^{-2\alpha s}} \int_{0}^{3\alpha} e^{-st} f(t) dt \\
&= \frac{1}{1 - e^{-2\alpha s}} \int_{0}^{3\alpha} e^{-st} f(t) dt \\
&= \frac{1}{1 - e^{-2\alpha s}} \int_{0}^{3\alpha} e^{-st} f(t) dt \\
&= \frac{1}{1 - e^{-2\alpha s}} \int_{0}^{3\alpha} e^{-st} f(t) dt \\
&= \frac{1}{1 - e^{-2\alpha s}} \int_{0}^{3\alpha} e^{-st} f(t) dt \\
&= \frac{1}{1 - e^{-2\alpha s}} \int_{0}^{3\alpha} \left[ f(t) \frac{e^{-st}}{s^{2}} - \frac{e^{-st}}{s^{2}} \right]_{0}^{3\alpha} + \left[ f(t) \frac{e^{-st}}{s^{2}} - \frac{e^{-st}}{s^{2}} \right]_{0}^{3\alpha} \\
&= \frac{1}{1 - e^{-2\alpha s}} \int_{0}^{3\alpha} \left[ \left[ f(t) \frac{e^{-st}}{s^{2}} - \frac{e^{-st}}{s^{2}} \right]_{0}^{3\alpha} + \left[ f(t) \frac{e^{-st}}{s^{2}} - \frac{e^{-st}}{s^{2}} \right]_{0}^{3\alpha} \right] \\
&= \frac{1}{1 - e^{-2\alpha s}} \int_{0}^{3\alpha} \left[ \left[ f(t) \frac{e^{-3\alpha s}}{s^{2}} - \frac{e^{-3\alpha s}}{s^{2}} - \frac{e^{-3\alpha s}}{s^{2}} \right]_{0}^{3\alpha} + \left[ f(t) \frac{e^{-st}}{s^{2}} - \frac{e^{-st}}{s^{2}} \right]_{0}^{3\alpha} \\
&= \frac{1}{1 - e^{-2\alpha s}} \int_{0}^{3\alpha} \left[ \left[ f(t) \frac{e^{-3\alpha s}}{s^{2}} - \frac{e^{-3\alpha s}}{s^{2}} + \frac{e^{-3\alpha s}}{s^{2}} + \frac{e^{-3\alpha s}}{s^{2}} \right]_{0}^{3\alpha} \\
&= \frac{1}{1 - e^{-2\alpha s}} \int_{0}^{3\alpha} \left[ \frac{1 + e^{-3\alpha s}}{s^{2}} - \frac{e^{-3\alpha s}}{s^{2}} + \frac{1}{s^{2}} + \frac{e^{-3\alpha s}}{s^{2}} + \frac{1}{s^{2}} + \frac{e^{-3\alpha s}}{s^{2}} - \frac{e^{-3\alpha s}}{s^{2}} \right]_{0}^{3\alpha} \\
&= \frac{1}{1 - e^{-3\alpha s}} \left[ \frac{1 + e^{-3\alpha s}}{s^{2}} - \frac{e^{-3\alpha s}}{s^{2}} + \frac{1}{s^{2}} + \frac{e^{-3\alpha s}}{s^{2}} + \frac{1}{s^{2}} + \frac{e^{-3\alpha s}}{s^{2}} - \frac{e^{-3\alpha s}}{s^{2}} \right]_{0}^{3\alpha} \\
&= \frac{1}{1 - e^{-3\alpha s}} \left[ \frac{1 + e^{-3\alpha s}}{s^{2}} - \frac{e^{-3\alpha s}}{s^{2}} + \frac{1}{s^{2}} + \frac{e^{-3\alpha s}}{s^{2}} + \frac{1}{s^{2}} + \frac{e^{-3\alpha s}}{s^{2}} \right]_{0}^{3\alpha} \\
&= \frac{1}{1 - e^{-3\alpha s}} \left[ \frac{1 + e^{-3\alpha s}}{s^{2}} - \frac{1 - e^{-3\alpha s}}{s^{2}} + \frac{1}{s^{2}} + \frac{1}{s^{2}$$